S, TR 29 4E 2 A 22 HERM
EREEITM—bF vk 27 EEEEGIm- G T | ;_ T L | EF ST
29600 B R BT e R B B T = = TH H M s

FHEHRL | | A = B 2 I | SRR
P 157 I e CRE R0 TR [ 7|2 s
thz |PERORD] 35 a2 kg FE 172 [ThE DFEHER a |E] 72 1E B SR e

" Dakomm RS M 3z

] Q@ FBFEDNE RMEEDIONCT 2P BT LD, TR CEbL0 kT 5. [T BUR R E DR

v %ﬁjﬁk e [EEORSIOHELER LS, RENFLIWEE>TH 0 BROFRCHIBFERIT 5H%
IR | s hb0BR OB, RALFES B CEBORBHEERE

Tk ‘tm)t;w -%ﬁ%ﬁ@l:&’j(@ﬁﬂ%w%ﬁux QFWERDILTE QORFIENHE DENE

Tk e | Tt EEBKOERE REOZE)
OER R S A B i A0YRIN [OES EE IR O Aer 34 ORI AIERD LD R

BHKOBEICEY., RNGEH &b‘bd)ﬁﬂﬁfliiﬁ%
BEDREMBITPRERICKENELD, £FDR
?ttiéiﬁﬁéo)#ETPE?%{%I:J:U%BFHE%%ﬁ%@#EiE&
EBo

BRBRECOVTE, LRLTVSA+24E
DEFDRIELY,

BRNER. FEH:

RITOWTIE ERALRHICE

EBEFLTELVWEEENZLHA STV,

(2) =2 Ab - R EHATR DRI
Bifir QAT | 257 | 260 [ 27 A | 287
O FEED ffﬂ](zmt@&*ﬁ) A TH L GRED | D | GRED | GRED | (TR
1.@%35@1% 130,930 135 %__1__._,35%" RIS FMH| 21,744 73,263 54,047]130,930| 88448
50519174 g2 ERPKTE T9]137,670( 107,722| 38,429] 50,519] 122,814
16,1581 37 W_gz_.ﬁ.ﬂfﬁﬂﬁ ETE TH| 17,463| 29,733| 39,222] 16,158] 5616
4@%%&&%)&% 4,046 141 390.26 m 4. BB AE T | i5,032| 8,666 6,505] T 4,046] 7,500
5.0 14,234:5 axatZatrt Ot %P5 F o 1| 5325| 11,628 15,010] 14,234] 56,557
@) %mHYﬁ@W§R(27$TE®&§) HAL: FH| 12 Hxrar (A) T | 197,224] 231,312| 153,213] 215,887] 290,935
PEEETES 10,640 2 AARHRAR 2, k- pRREEEEN2 | & [1 BEXHSE B 98.852] 6.697] 10,640
DAL RS oy . |2 R R
SHATE 57,900 BRI B EEEIE il 3R e 31,100] 57,900
401 79,584 RS e Zof T T5,898)93,302] 51 ,817] 79,584
5. —HEEA iR T ]194,326] 39,158 63,599 67,763] 290,935

CGE A — - . "

g | TR2SRU6EENSDRHMEREN S M oTf8 e [FR] aa ] A <[ 5o[a] - [E=] 330 /]
Q) EEEEDOFE ANLIIS T 2i51E T

3 N N L 245RFF | 254E 5 | 26038 | 27 | 284F
==t ] 0@ BERiERs AT (e | (e | (e | (e | Gt

QTHEFE A QTR I T o 7= F72Th 8h)

F 7| BIRER (BEE) m | 5440 | 4800| 2477| 2780 3450
M ERBRBIE 1344 L=1,45m
SHEIHBTE 174 L= 603m
HEKBMEITE 3 L= 722m A | BlERT RERAREL BRAR 37 59 35 34 27
A 2] (e D 5P pBE ) - . N 244 FE [ 254 | 264F i | 274 % | 284FEE

Hlaw e

- — FIER (£1F) 738,098 739,532 | 741,486 742,942] 747,642
HE [EEEERT 5 EE R R ESRE | |7 [FRAE ifliseicesseizeafitlco) dizsal it
5] 23] N Y 2 AN A= AN

it

§ A | EEEHmRE % | 675 | 675 | 67.7 | 678 | 680
(WD EEEEEEEFMOLER (5) LR IEEDENM
DB R e B RS SR @zXl\ | A 2 JEE A ol
......... B A . RN 750,000 68.2

~~~~~~~~ o | b [ mea ML | AL Az 745,000 A—_ 68.0
....... bD | EbD | L ....,% 1/3 1/3 1/3 ’ L 678

}Jﬁ KEW @ 740,000 i | 676 +7

% o

g | wa ©) &Zé % 735,000 - 674 gy

" e 730,000 : 67.2
B IhEN %JL o < © A &

i © R ,,%&
® 10) ®
© Q>

(6) EXEEICETAFHA

[OFEZIND L] 58 L1 JiE M BEREH L] fmr L1 52 i [R] 3

[=A1]

(15 - S R e oD 5

& FDFH)

@EH‘%@WE SRS | pieiE | A B =R m EM L] e L] &R te] 23%EJE [ 244E )% [ 25%E )% | 265E)% | 274E)E
=3 ppfeE s | o247 [ A = Em bV mE L gy L R F | gl 2445 | 2645 | 2645 | 274 | 28511
e [2A K] 7
Vﬂf]ﬁf“@ zom @JY 1,434| 1954] 1.456] 4,700
7| .l 0o o2 o1 0.2

OB TR ERE (3 PIZ SEEES BURAERF L] "l

(Kxd 2ae U ol...L s O Btk -k L] zofh )

BAHIE PR # FEREAN ST DB, BT, RS L

" T, HEIRERETo T,




